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401 AIEHIZ SR HYI 60,000 60,000
01 Al&HI 60,000 60,000
o284l £X He 60,000
AH2IJH(LEF L) 23,562 41,706 18,144
l=ZH(E ) 23,562 41,706 A18,144
JlE2Zdl (e F 2t 23,562 41,706 18,144
201 fer= 3| 18,972 35,280 16,308
01 AtR2tc|HI 18,972 35,280 16,308
OJl2+EHl 9,180
OJl=sgtl 9,792
202 04l 1,458 1,458
01 2LHoIH 1,458 1,458
Oetdd ) D= e=d 1,458
203 HR=AH] 3,132 4,968 A 1,836
M A2 LIFAI 3,132 4,968 A1,836
Ot FA2SHRFN
290,000 122 x90% 3,132
HRes(HEF ) 241,912 675,000 A433,088
WHEHeHXIZ (Rt H 2 Dt) 241,912 675,000 433,088
WA XIE 241,912 675,000 A\433,088
(VRIS TSE= 241,912 675,000 A433,088
01 JIsdEsS 241,912 675,000 433,088
Olct2tells 8= 241,912




